
E614_iron_cube3_144A.xls 10/30/2001 Chart dBz @ X=0 (2)

E614_Iron_cube3_X+0_Z+0_***A. X=0. Coils shifted by 0cm or +1cm
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dBZ (iron_cube3_X+0_Y+0_Z+0_144A.op3, X=0), [Y=-20 - Y=+20]
dBZ (iron_cube3_X+0_Y+1_Z+0_144A.op3, X=0), [Y=-20 - Y=+20]
dBZ  (iron_cube3_X+0_Y+1_Z+0_245A.op3. X=0), [Y=-20 - Y=+20]
dBZ  (iron_cube3_X+1_Y+1_Z+1_144A.op3. Y=0), [X=-20 - X=+20]
dBZ (iron_cube3_X+1_Y+1_Z+1_144A.op3. X=0, Y=0) [Bz@-20 - Bz@20]
dBZ  (iron_cube3_X+1_Y+1_Z+1_144A.op3. X=0), [Y=-20 - Y=+20]

dBz=120G (Fz=1300kG)
[X, Y & Z+1cm. 144A]


